
Assembly Instructions 

 
 

 

 

 

 

 

 

 

 

 

  

 

 

ASSEMBLING THE TABLE SECTION 

Place the table top upside down on a flat surface making sure to 

protect the table top from damage.  Slot the A-Frame Assembly 

between the 2 centre battens on the table top.  Fix with 4 x 60mm 

bolts & caps. 

Screw in pre-drilled table braces centrally between table and A-Frame 

Assembly section using 4 x 60mm at the longest point and 4 x 80mm 

screws at the wider point of the brace. 

ASSEMBLING THE SEAT SECTION 

Bolt the legs to the outer brace of the seat using 2 x 60mm bolts and 

caps.  Using 2 more 60mm bolts fix each diagonal leg brace into the 

leg and the underside of the seat.  

Using 2 x 95mm bolts and caps bolt through A-Frame Assembly and 

centre seat brace.  Repeat for the other seat section.  

Finally upright table and screw on the leg table supports into the legs 

at both ends and into the middle cross rail. Tighten all fixings. 

 

 

 

ASHBY- Picnic Table 

List of parts and Fixings 
                            
 

 1 x Table Top 

 1 x A-Frame Assembly 

 2 x Seat Section 

 4 x Seat Legs 

 2 x Table Braces 

 4 x Seat Braces 

 2 x Leg Table Supports 

 20 x 60mm Bolts 

 4 x 95mm Bolts 

 16 x 25mm Caps 

 4 x 60mm Screws 

 20 x 80mm Screws 

 2 x Allen Keys 

  

 

 

Hutton Garden and Landscaping Products 

Church Lane, Northwood Green, Westbury-on-Severn, Gloucestershire GL14 1ND www.svw2000.co.uk/hutton 

Tel: 01452 762089                Fax: 01452 760993            office@hutton-ltd.co.uk 

When assembling, loosely fix together until fully assembled then tighten all the fixings. 

IMPORTANT CUSTOMER INFORMATION  
To minimise twisting and warping all Hutton garden furniture products should only be used on firm level ground.  
Softwood is a natural material which can twist and split during periods of wet/dry, hot/cold weather. If cracks do appear it is a 
natural occurrence and not a fault with the product or material. The best way to treat this is to use a cloth and rub a little PVA 
wood glue into the crack and once dry sand the area lightly. This will not affect the treatment of the product. 

http://www.svw2000.co.uk/hutton


 

 


